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s =] . AB
BT T2 MRl T8 T =% BT % Mg T8 T =%
EJTS 14,739 39,709 19,519 20,190
= [ BT Bl R 998 2,711 1,387 1,384
EFETAR 26 75 34 41
XRAETS H 462 1,084 559 525
XEETKE 541 1,516 729 787
ERATIERER 1,268 3,309 1,671 1,638
EEATILREEITE 331 832 378 454
£EATILREFET B 93 218 96 122
£EATILREFEST B 112 317 158 159
EEATILREFEAT B 212 446 187 259
Hi 748 1,813 819 994
XEAETE L 578 1,496 722 774
EFET/INF 405 976 517 459
ERET/NER 343 921 464 457
£EATEOEHHEITE 364 1,049 505 544
£EATEOEHHE2TE 379 1,101 542 559
EEATESOEHHEIT 282 823 404 419
5| 1,025 2,973 1,451 1,522
£EATEOEHHITHE 233 714 351 363
£EATEOEHH2TH 349 1,065 521 544
EEATEOEHEIT 453 1,344 646 698
£t| 1,035 3,123 1,518 1,605
XRATERF 555 1,505 726 779
ERETELE 350 1,062 522 540
ERATEEAR1TE 262 754 384 370
ERETEREA2T 202 510 269 241
B 464 1,264 653 611
ERETAFH 678 1,906 946 960
EJEL P NS 245 702 367 335
ERETZAH 1,093 3,271 1,620 1,651
EFETAE 446 1,187 600 587
EJELIpRYE] 5 14 8 6
ERETER 1,423 3,628 1,725 1,903
XREATER 238 570 285 285
EKERATREREB 1,193 3,147 1,547 1,600
EERRARNAEITE 208 500 221 279
Z£ERTRAREETE 73 181 74 107
Z£ERTRREAETH 248 542 253 289
B 529 1,223 548 675
ERAETAMBITE 74 153 85 68
EFRETA#E2TH 1 2 1 1
EFRETA#EITH 1 1 1 0
ERBETARM BT 15 17 14 3
B 91 173 101 72
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